Distribution of households by ‘record of contact at address’ (DB120), by ‘household questionnaire
result’ (DB130) and by ‘household interview acceptance’ (DB135), cross sectional sample 2017

First wave
Table 1 1t wave: Distribution of households by ‘record of contact at address’

Count %
Total (DB120 =11 to 23) 4759 100.00
Address contacted (DB120 = 11) 4291 90.17
lAddress non-contacted (DB120 = 21 to 23) 468 9.83
Total address non-contacted (DB120 = 21 to 23) 468 100.00
IAddress cannot be located (DB120 = 21) 468 100.00
IAddress unable to access (DB120 = 22) 0 0.00
Address does not exists or is non-residential address or is
unoccupied or not principal residence (DB120 = 23) 0 0.00

Table 2 1t wave: Distribution of address contacted by ‘household questionnaire result’

Count %

Total 4291 100.00
Household questionnaire completed (DB130 = 11) 2478 57.75
Interview not completed (DB130 = 21 to 24) 1813 42.25
Total interview not completed (DB130 = 21 to 24) 1813 100.00
Refusal to co-operate (DB130 = 21) 1426 78.65
Entire household temporarily away for duration of fieldwork

- i.e. non-contacts (DB130 = 22) 226 12.47
Household unable to respond (iliness. incapacity. etc.)

(DB130 = 23) 93 5.13
Other reasons (DB130 = 24) 68 3.75
Household questionnaire completed (DB135 = 1+ 2) 2 478 100.00
Interview accepted for data base (DB135 = 1) 2478 100.00
Interview rejected (DB135 = 2) 0 0.00

Second wave

Table 3 2" wave: Distribution of households by ‘record of contact at address’

Count %

Total (DB120 = 11 to 23) 54 100.00
IAddress contacted (DB120 = 11) 54 100.00
IAddress non-contacted (DB120 = 21 to 23) 0 0.00
Total address non-contacted (DB120 = 21 to 23) 0 0.00
Address cannot be located (DB120 = 21) 0 0.00
lAddress unable to access (DB120 = 22) 0 0.00
Address does not exists or is non-residential address or is

unoccupied or not principal residence (DB120 = 23) 0 0.00




Table 4 2 wave: Distribution of address contacted by ‘household questionnaire result’

Count %
Total 2523 100.00
Household questionnaire completed (DB130 = 11) 2 357 93.42
Interview not completed (DB130 = 21 to 24) 166 6.58
Total interview not completed (DB130 = 21 to 24) 166 100.00
Refusal to co-operate (DB130 = 21) 144 86.75
Entire household temporarily away for duration of fieldwork
- i.e. non-contacts (DB130 = 22) 1 0.60
Household unable to respond (iliness. incapacity. etc.)
(DB130 = 23) 11 6.63
Other reasons (DB130 = 24) 10 6.02
Household questionnaire completed (DB135 = 1+ 2) 2 357 100.00
Interview accepted for database (DB135 =1) 2 357 100.00
Interview rejected (DB135 = 2) 0 0.00
Third wave
Table 5 3 wave: Distribution of households by ‘record of contact at address’

Count %
Total (DB120 = 11 to 23) 54 100.00
IAddress contacted (DB120 = 11) 54 100.00
IAddress non-contacted (DB120 = 21 to 23) 0 0.00
Total address non-contacted (DB120 = 21 to 23) 0 0.00
/Address cannot be located (DB120 = 21) 0 0.00
IAddress unable to access (DB120 = 22) 0 0.00
Address does not exists or is non-residential address or is
unoccupied or not principal residence (DB120 = 23) 0 0.00

Table 6 3@ wave: Distribution of address contacted by ‘hou

sehold questi

onnaire resul

t

Count %

Total 2113 100.00
Household questionnaire completed (DB130 = 11) 1990 94.18
Interview not completed (DB130 = 21 to 24) 123 5.82
Total interview not completed (DB130 = 21 to 24) 123 100.00
Refusal to co-operate (DB130 = 21) 95 77.24
Entire household temporarily away for duration of fieldwork

- i.e. non-contacts (DB130 = 22) 7 5.69
Household unable to respond (illness. incapacity. etc.)

(DB130 = 23) 9 7.32
Other reasons (DB130 = 24) 12 9.76
Household questionnaire completed (DB135 = 1+ 2) 1990 100.00
Interview accepted for data base (DB135 =1) 1990 100.00
Interview rejected (DB135 = 2) 0 0.00




Fourth wave

Table 7 4t wave: Distribution of households by ‘record of contact at address’

Count %

Total (DB120 =11 to 23) 45 100.00
Address contacted (DB120 = 11) 45 100.00
Address non-contacted (DB120 = 21 to 23) 0 0.00
Total address non-contacted (DB120 = 21 to 23) 0 0.00
Address cannot be located (DB120 = 21) 0 0.00
Address unable to access (DB120 = 22) 0 0.00
Address does not exists or is non-residential address or is

unoccupied or not principal residence (DB120 = 23) 0 0.00

Table 8 4t wave: Distribution of address contacted by ‘household questionnaire resul

t

Count %

Total 1967 100.00
Household questionnaire completed (DB130 = 11) 1876 95.37
Interview not completed (DB130 = 21 to 24) 91 4.63
Total interview not completed (DB130 = 21 to 24) 91 100.00
Refusal to co-operate (DB130 = 21) 57 62.64
Entire household temporarily away for duration of fieldwork

- i.e. non-contacts (DB130 = 22) 16 17.58
Household unable to respond (illness. incapacity. etc.)

(DB130 = 23) 14 15.38
Other reasons (DB130 = 24) 4 4.40
Household questionnaire completed (DB135 = 1+ 2) 1876 100.00
Interview accepted for database (DB135 =1) 1876 100.00
Interview rejected (DB135 = 2) 0 0.00

Total sample

Table 9 Total sample: Distribution of households by ‘record of contact at address’

Count %

Total (DB120 =11 to 23) 4912 100.00
Address contacted (DB120 = 11) 4 444 90.47
IAddress non-contacted (DB120 = 21 to 23) 468 9.53
Total address non-contacted (DB120 = 21 to 23) 468 100.00
IAddress cannot be located (DB120 = 21) 468 100.00
IAddress unable to access (DB120 = 22) 0 0.00
IAddress does not exists or is non-residential address or is

unoccupied or not principal residence (DB120 = 23) 0 0.00

Table 10 Total sample: Distribution of address contacted by ‘household questionnaire result’

Count %

Total 10 904 100.00]
Household questionnaire completed (DB130 = 11) 8 701 79.80
Interview not completed (DB130 = 21 to 24) 2 203 20.20
Total interview not completed (DB130 = 21 to 24) 2 203 100.00
Refusal to co-operate (DB130 = 21) 1722 78.17
Entire household temporarily away for duration of fieldwork

- i.e. non-contacts (DB130 = 22) 260 11.80
Household unable to respond (iliness. incapacity. etc.)

(DB130 = 23) 127 5.76
Other reasons (DB130 = 24) 94 4.27
Household questionnaire completed (DB135 = 1+ 2) 8 701 100.00
Interview accepted for data base (DB135 = 1) 8 701 100.00
Interview rejected (DB135 = 2) 0 0.00




